(unit m/min)

fz = Feed per tooth (unit mm)

Cast Aluminum 200 0,01 0,01 0,01 0,015 0,015 0,025 0,03 0,038 0,05
Wrought aluminum 500 0,01 0,02 0,025 0,05 0,05 0,05 0,064 0,08 0,1
Soft plastic 600 0,025 0,03 0,035 0,045 0,065 0,09 0,1 0,2 0,3
Hard plastic 550 0,015 0,02 0,025 0,05 0,06 0,08 0,089 0,1 0,15
Hard wood 450 0,02 0,025 0,03 0,055 0,065 0,085 0,095 0,095 0,155
Soft wood 500 0,025 0,03 0,035 0,06 0,07 0,09 0,1 0,11 0,16
MDF 450 0,05 0,07 0,1 0,15 0,2 0,3 0,4 0,5 0,6
Brass, Copper 365 0,015 0,02 0,025 0,025 0,03 0,05 0,056 0,065 0,08
How to calculate the RPM of the Spindle: How to calculate the feed rate Example:

n = (vc * 1000)/(3.141* d) vi=n*z*fz
In Fusion 360
Explanation: @ 2D POCKET : 2D POCKET1
n = speed of spindle in rpm
peer ol sp e T ¥\ ¢ & HE &

ve = cutting speed in m / min

d = milling bit diameter in mm ¥ Tool

z=number of teeth of the milling bit Tool Select,

fz = tooth feed in mm / tooth

vf = feed rate in mm / min ER e =d
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Spindle Speed
Surface Speed
Ramp Spindle Speed
Cutting Feedrate
Feed per Tooth
Lead-In Feedrate
Lead-Out Feedrate
Ramp Feedrate
Plunge Feedrate

Feed per Revolution

15915.5pm =

300 m/min = =vc
159155 mpm

62254 mmimin | - =vF
0.054177 mm =fz

£2.254 mmimin .
82254 mmimin |
108.78 mm/min -
108.78 mmimin | -

0.0696657 mm -

Cancel

You want to mill hard wood with a 6mm milling bit with two flutes.

n = (450 * 1000)/(3,141 * 6) = 23877 RPM

vf = 23877 * 2 * 0,085 = 4106 mm/min
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